3-M12*1.75P
i PCD @250
|
A B /
o~ — | A
| <
| P
| <
|
-5 '
— _ _ i [ _ _ @
\ |
\i.:’_,/
C 7~ ~N \7\\
/ ¢ N
X N
\\
N { \, \
@ ]7? & »
\ ~ - X
| 35
=
/
- | ) 0 |5<&9
o| w I :
=1 X 2
8| | BT 0(“_ =
_ ! §| 17 '
== S
.40 |
i
@13.9
160
B olERi Max.Speed r.o.m.(min’) | 2500
HE Weight kg | 304
LR EEHE Max S ZEIEE (0.D.Clamping) D12~2260
Gripping Diameter |P#ZIE#E(.D.Clamping) 80~250

, 98 3-M12*1.75P
—/ /S /7 /7 F
B — =
74 A =
A
O =g
54.45
|3
22 ol w
sl 8| ®
o
o
—| <
o Yo} —~
i 3-M12*1.75P
6-M12*1.75P @
NO. B w5 #E |EHK BE
01| A&{& S45C 1 HRC24+2°
02 | R&ZO—)L SCM440 | 1 HRC38+2°
03 | by Fa— SCM415 | 3 HRC6012°
04 | R AY—3— SCM415 | 3 HRC6012°
05| E=F> SCM415 | 3 HRC52+2°
06 | EE FC20 1
o7 | T-/\>R)L SCM440 | 1 HRC38+2°
AR FT-KT10
==tivs mm
S5 | @ =
EEAI 1:2




